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QUug - I (Section-I)
EIEF'I'G UI1 (Objective questions) 1x40
|t 99l R S @

Write the correct answer of all questions

I 31gdd <01 HY BIHT-GU SUh! Fehdl-T3a1 T BN -

(A) TTH (B) et
(C) =herg (D) TR
The focal length of a concave mirror of its radius of curvature is -
(A) Double (B) Half
(C) One Four (D) Equal
2. TE-oiF ® WHE-5U FH e 9 ¥ A 91 -39 g B
(A) Frere gfe S (B) g-3fte 3
(C) v gfe Im (D) 394 § &g Tl
Which eye-defect arises due to decreasing of focal length of eye lens
(A) Myopia (B) Hypermectropia
(C) Presbyopia (D) None of these

3. oY-UeH % EEd URuY H faydum &1 AeE-
(A) 9gd %Y @ [ (B) uRafda 7€t = @
(C) =gd fus &g S 2 (D) fRe ofafia g 2

During short circuit an electric current is the circuit becomes.
(A) Very low (B) Unchanged
(C) Very high (D) Changes constantly.
4. Trefafed § & @ o5 faga 9wy o faga wfwm &1 fefma @1 s

(A) I2R B) IR2
(C) VI (D) V2/R

PSS



Which of the following expression does not represent electric power

in an electric circuit?

(A) PR (B) IR2
(C) VI (D) V2/R
AR oY Biwg-gU W uReds femen St 2-

(A) gl gR (B) 3t weat g/
(C) vem+t AEUimEl g/ (D) uRARER g7
The change in focal length of the ‘eye lens is done by :
(A) Pupil (B) Retina

(C) Culinary Muscles (D) Iris

faga i uftafda s 2
(A) =ifw 31 i fogga 3= o
(B) fomp i 1 =itk 3=t o

(C) Tt 31 i forp 3= o
(D) fora 3=t =i TomEf 3= H|

Electric motor converts

(

Mechanical energy into electrical energy

>

)
) Electrical energy into mechanical energy

QW

(
(C) Chemical energy into electrical energy
(

)
D) Electrical energy into chemical energy

foga sea & fhommie o fovg a1 STEN B T 2

(A) T (B) diem

(C) Eshid (D) <=

Which element is used in filament of electric bulb ?
(A) Tungsten (B) Copper

(C) Nicrome (D) Zinc

ﬂ-l\.wm@ﬂ* >
Sl



4
8. Uk WURU fied fhad wae! ¥ fow g 2
(A) 6 (B) 4
(c) 5 (D) 3
How many faces of a simple prism is bonded.
(A) 6 (B) 4
€ S (D) 3
9. yfafer T SR UM o] & R T, A Y9 &AW
(A) 3T (B) 31add
(C) gHdd (D) 9HAS A1 3T
The image of object is always same, the mirror will be
(A) Convex (B) Concave
(C) Plane (D) Plane of convex
10. fogd gkt IROT &1 TS fREd ®T ofi-
(A) Femaa 3 (B) ®Ue A
(C) THRR A (D) HeAtHT
Electromagnetic Induction is discovered by
(A) Maxwell (B) Faraday
(C) Ampere (D) Fleming
11, 3R o @ Hen @ wld g @-
(A) YHTE & 3T & HRU (B)USHI & ThIVH & HR
(C) YT & e & HRU (D) 3T ¥ wIE &l
The colour of sky appears blue because of
(A) Refraction of light (B) Dispersion of light
(C) Reflection of light (D)  None of these
AWW%R (’,6~ v
S




12,

13,

14.

15.

16.

T A9 Sfuehad TRl g0 o i oEgel Sl T W HehRdl ©-
(A) 25m (B) 2.5cm

(C) 25 cm (D) A

Upto what distance of the object can a normal eye view clearly.

(A) 25m (B) 2.5cm

(C) 25 cm (D) Infinite
o9 F 9d &1 S.1 A -

(A) cm (B) - cml
(G} m-1 D) m
SI unit of power of lens is

(A) cm (B) cm!
(€) m! (D) m

sfafdan Cuo + Hy — Cu + Hp0 T fhueh! 3U=H 2l & ?

(A) CuO B) Ho

(C) Cu (D) H20

In the reaction CuO + Ho— Cu + H20 which is oxidised.
(A) CuO (B) H2

(C) Cu . (D) H20

qifeom F1 SR R 7

(A) 1 (B) 2
(C) 8 (D) 11
What is the valency of (Na) sodium ?
(A) 1 (B) 2
(C) 8 (D) 11

Tosh 1 9 g3 § 2

(A) CunHon (B)  CnaHon+4
(C) CnHon+2 (D) CnHon-2
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17.

18.

19.

20.

The general formula of alkane is :
(A) CnHQn (B) CnH2n+4
(C) CnHan+2 (D)  CoHon-2

3 foaer@e 1 PH HM =1 &R 2

(A) 7 9 sAfyen (B) 7 9 %A
(C) 7 & SR (D) =79 s &l
What is the pH value of neutral solution ?

(A) More than 7 (B) Lessthan7

(C) Equalto7 (D) None of these
e wroft § fohe ot 7 2

(A) ¥ (B)

(C) 38 (D) 3ASRE

How many groups in periodic table ?

(A) Seven (B) None

(C) Eight (D) Eighteen

M | g ToEd 1 ek B @ 7

(A) TEH (B) UL

(C) FANH (D) THIEHRH
Which non-metal is good conductor of electricity ?
(A) Sulphur (B)  Graphite
(C) Chlorine (D)  Phosphorus
HIE FM T ?

(A) =g (B) 31

(C) 3uurg (D) 39 § g Tl
What is carbon ?

(A) Metal (B) Non metal

(C) Metaloid (D) None of these

s
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21«

22

23.

24,

25:

=1 & @ gda o 7

(A) HCI (B) HNOs

(C) Ha2S04 (D) CH3COOH
Which of the following is weak acid-?

(A) HCI (B) HNOs

(C) H2SO4 (D) CHsCOOH
WRRM (K) &1 ] Fo o §2

(A) 19 (B) 20

(¢c) 23 (D) 35

Atomic number of Potassium is

(A) 19 B) 20

(C). 23 (D) 35

et § QB e S 2

(A) Ha ~ (B) CHs

(C) C2oHe (D) C4Hio
Which of the following is mainly biogas

(A) Ho (B) CHa4

(C) C2Hs (D)  C4Hio

YR THeh I TR g 941 & 2

(A) NaOH (B) NacCl

(C) CaCoOs (D) Na2COs3

What is the chemical formula of common salt

(A) NaOH (B) NaCl

(C) CaCo0s (D) Na2COs3

et arfafran & w1 oF At Teref weem @

(A) SRR (B) Aol

(C) sAfvenTen (D) "fdwa

The compound take part in chemical reaction is called :
(A) Oxidising agent (B) Reducing agent
(C) Reactant (D) .. Product




26.

2]

28.

29,

30.

®F YA a1 B qA B 2

(A) Ca (B) Br
(C) ‘He (D) Li
Which is an element of group zero ?

(A) Ca (B) Br
(C) He (D) Li

O G % AU Seavad ©
(A) hTeF STE3TMEES aA1 i (B) HeRifed

(C) qd 1 b (D) T ¥ wsft
Essential for autotrophic nutrition is

(A) CO2 & Water (B)  Chloroplast
(C) Sunlight (D)  All of above.
T ¥ B YRR GEeAS 3 22

(A) BRd Torh (B) um

(C) Uit (D) &

Which one is photosynthesis organ ?

(A) Chloroplast (B) Garna

(C) Leaf (D)  Stroma
AT & IR I Gl o) w2l

(A) THd (B) M

(C) erverm (D) TEHa

The largest gland of human body is

(A) Liver (B) Pancreas
(C) Ovary (D)  Adrenal
URY § STEeH % folu SRS ©

(A) S % =87 & fau (B) 9SH &% a4 & fau

(C) oAl 37 & @& & fau (D) HdfisH & o859 & forw



;3.

32.

33.

- 34,

The xylem in plant is responsible for

(A) Transport of water

(C) Transport of Amino Acids

(B) Transport of food

(D) Transport of oxygen

% FIREE A § S 1 uiEed g gl

(A) TR g
(Cc) 9 gl

(B) = Afetsrtel g
(D) T § ®Ig &l

In unicellular algaes circulation of water done by

(A) Osmosis

(C) Diffusion

(B) Sieve tube
(D) None of these

moel & g § *ISl @l gl Bl

(B)
(D) Had TH

The number of chambers in the heart of the fish is.

(A) &
(C) B=IES
(A) 2
C) 4

B) 3
(D) Only one

frfafed o $F T ot & faged ¥ s €l

(A) COq
(C) NH3

B) CO
(D) B RCHA

Which is formed after breakdown of Amino Acid

(A) CO2

(C) NHg
it T

(A) Th BEHM
(C) z~i=H

Auxins is a
(A) A Harmone
(C) Enzymes

B) CO
(D) B and C both

(B) @«

(D) wHERESe

(B) Fat
(D) Carbohydrate

f‘mvm«b—fl



e = hcy = =
10
35. Wk W BN ©
(A) TEME (B) @msdiferda
(C) TEISH (D) TRIRH
A male Harmone is '
(A) Adrenaline (B) TSH
(C) Estrogen (D) Testosteron
36. T HA Srifi s sl fafy 87
(A) foEed (B) HeeH
(c) fg@ed (D) =9 § &+l
Which one is asexual reproductions method as given below.
(A) Fission (B) Budding
(C) Binary Fussion (D) All of these
37. WY ¥ B ®
(A) wEISA (B) JieRE
(C) ey (D) TR
The anther contains
(A) Sepals (B) Ovary
(C) Ovules (D) Pollens
3. STERTE TN 1 G B §
(A) SoTAoTo STueT | (B) Stag= d
(c) dfre d (D) wfg=s o
The message hereditary characteristics lies in
(A) DNA Molecules (B) Protoplasm,
(C) Nerve (D) Brain
%mm%ﬁw
L




39. T et =t ¢ sTafereRt w1 frmr’ et S @2

40.

(A) 3T& (B) WR W4 Hed

(C) TR T (D) 38 ¥ &g &l
Name the scientist who is known as the "Father of Genetics"
(A) Aristole (B) Gregar John Mendel
(C) Robert Hook (D) None of these
TrEfgen widl o W wEl uw e w7

(A) dfei (B) & W

(c) dfeaf wd o g W

(D) =99 ¥ &iZ T

Stomata is where present in Hydrilla plant.

(A)
(C)

On leaves (B) One steam

On leaves & steam (D) None of Above

g = 1

11
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(Section-II)
Tus- II

oTg EL R Y94 (Short type questions)

Y% @UE § IR YAl K1 I 30 9 50 I H <

Write the correct answer of any four questions about 30 to 50 words

from every sections.

YUS-3 (Section-A)

. AT =1 9mes fam fag ?

Write the Fleming's left hand rule ?

2. ER I SUERAIF 2.42 B TH U H ATYT F ?

Refractive index of Diamond is 2.42. What its mean ?

3. ordfae IR STarE yfafaral § Fr o ©?

What is difference between real images and virtual images.

4, TR SR foeym ¥ 9 o o ?

Write two differences between alternating current (A.C.) and direct

current (D.C.) ?

5. AR A fenferm @72

Why stars are twinkling ?
6. OEd TS WO ¥ o HHIHA ©7

What do you mean by electromagnetic induction.

YUe-d (Section-B)

7. Hgfed TEmEfTR SHIR @ 2?7 USSR 9

What is the balanced chemical equation ? Give an example.

lﬁ—mw%M/



8.

10.

11.

12

13

14.

15.

16.

I

18s

13

T AN &R § | R fos?

Write two differences between acid and base.

qEEIEal F © 2

What is Isomerism ?

T fhad TR & T € S wfga fad?

How many types of indicator ? Write with examples.

SYIUH STeEe i i Y ?

Define amphoteric oxide?

Heclld 7 AT ofed |Roll TOR i & fU S 9§ AURS ST o

What were the criteria used by mendeleev's in creating his periodic
table?

WUg-H (Section-C)

AT ooy qerr fosearst g § @R eT=R © 2

What are difference between Autotrophic Nutrition and Hetrotrophic

nutrition?

Ik SSIEHl T &1 il T2

What is the function of digestive enzyme?

g B R 22

What are plant Hormone ?

IBR JEel F1 87

What is food chain?

SR g Efad B 1 AW fore qen s&en &1 adid

Name of Hormone secreted by Pancreas and write its function.

Sraren I 77?

What are Fossils ?
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ael"éf ST U9 (Long type questions)

[ gl T SW 150 § 200 VK H |

Write the correct answer of all questions about 150 to 200 words.

19.

20.

21.

3T 1 Fm = 22 THa! Sifg & folt Uk 93 &1 ovi 9?6

What is ohm's law? Describe with an experiment for its proof.
3T or

TF 3T AU HT wehdl AT 26 WHI0 Bl TUOT W 15 WO w6 W

R feq wh a5 & gfafaw &t Rafd s wifs

The radius of curvature of convex mirror is 26 cm. What is position

of image of object kept at 15 cm from mirror.

STEl & &A%k 1 W forel? SE H1 I Sk ° RNl
U H 7 | 5

Write the main ores of zinc ? Define the extraction of zinc from its

ores?

YAl or
A 3R S ® U o T

Write five differences between soap & detergent ?

YO 1 8?7 AT % YIEA o 1 Tk o aemd| 5

What are respiration ? Draw a labelled diagram of respiratory

system of human being.

HYA[ or

wetl o oA st afsRan ot AHifeRd o g wmEe |

Explain fertilization process in flowers well labelled diagram.
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Answer of Objective type questions
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T q99 W ST

s > Q> U W W w »
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